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8, Inaphotoclectric experimen T Frequ
Then consider the folbowing statemenis

() The saturation PhoLocwrent remaing almost the shme,

[} The maximum kinetic energy of the photoelectrons is doutded,
A Both 1) and (i) are trus B. [hls true bk (W) is false
- € (i}s falee but {i) i true D. both (i) and (Ii) are false
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FHTSICS
1. The resistance of an ideal ammeter i
A low
C. infinite % 2ee0
D. high

2 Mmamfhdﬂlﬂedhyw then the body
A hseswhnleﬂfﬂle:hrwmu

B. loses part of the chs
C. becomes neutral bt

D. dmnutmwm
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B 135

4. Towcharges are placed @ certain distance

apart in air. If a bras
the force between them will Fa brass plate is introduced between them,

b ETeAse B. detrease
€. becmezero ' D. remain the same

5 Abody has a negative charge of 1 coulomb. It means that it has

A, acquired one additional electron B. lostone electron
C. Acquired 6.25x 108 sdditional D. lost6.25x 1018 electrons
electrons : ‘
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5. The minimum amaunt of tharge sbeerved sa far is
A 16%108 ¢ 8 1C
C 16x1019, D agxwri3c

16 As 3 person moves from pole 1o equator, the value of its weight will
A deovass B increase

C. remain same . first increate then deceass

17. When 3 stone &5 dropped on the surface of still water, waves produced are

A, trangverse and longitudinal both B ongitedingl
C tramsverse O neither transverse ror longrudinal

18 Choose the wrong sistement:

A The valse of daplacemeant is always B The walue of detance travefied by 2
greater than the distance trovelled. mawarg Doy GEn never e revo of

M‘I‘-.

€. The walue of displacement can be 0. The displacerment of an abject
mmmmim
wahue .

; for motion with uniform velocrty in equal to
A morma 8. nong of the abowe
€ Finad velocity D. initial velocity

20 The smaliest retistance which can be obtained with ten 0.1 ohm resistons is
A O1ohm 8. 00ichm
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A isoncpes of an element sho sl AOIMIC MASSES
same phyical o o mdmmm
£, Ispsopes of an elemert sarme atomic number
same cherrical propermes
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formsls
A Lime , CaCO B. Lime stone, CaC0a

€. Calium carbonats , CaC0s 0. Calcium oxide , €20

7 How s the concentration of hydronium ians [Hs0" | affected when a solution of an acid is

diluted? .
A Becomes 2en0 B. Decreases

€ haases . Remsins the same
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g ‘Whenagoid foll is bombarded by a beam of a partice. anly a few of them ge1 deflected whoneas.

A The volume of nucleus i much B, The force of repulsian actng on the
smmaller than that of the atam fast maving o particles is very small
C. The fores of atiraction exensd on o 0. Theneutrons have na effect ona
particles by the alectrons i particles
insuffictent
9. Which of the following does nat have 8 valence slectrons:
A He . B CF
€ A D. Ne
10. Molecular mﬂ:ﬂaﬂlﬂ' Iy el 1o
A, 1555+10+16 B, 1595
C. M95 D, 1595%90
11. Amaong the foliowing select the metal found free in nature:
A Au B MNa
C. Mg B, Cu
12 Which of the foliowing represents cyclohexane:
A Coble B. CsHs
13 MHI;I!-M“H ﬁlﬂﬂhhmﬂmm
A Wooi L T
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C. XCOs D, iﬁﬁh&f

14. Na'has 12 neutrons and mmmmw

A. Nahas atomic number 10 and mass B. ¥a"has atomic nurmiber 11 and mass

rustmber 23. | number 73,
€. Ma" has atomic number 10.and mass D. a*has atomic numier 11 and mass
mumber 72 oo meberdd
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